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A diameter AB and a chord CD intersect inside 00 at X :
If mAD = 128 and m LAXD = 74, find each measure.
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"~ In 00, AC is a diameter and AE is a tangent, mDC = 30,
mZ.AED = 30 Find each measure.
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5. mBC = ()

7. Given mAAXD = T2, mLAED = 28

Find mAD and mCB.
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8. Given concentric circles centered at‘O. AB and CD are chords
of the large circle that intersect at point E on the small circle.
mEF = 80, mAC = 20 Find mBD
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00 is tangent to oB at point A. GA is .
L .tangent to both circles at A and CD —~ o
~=~—".is tangent to 00 at B. GA||CD, —> AD = A WV

‘mLAGB = 42 Al = AC =90
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11.FindmAE =% = 2
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00 is tangent to the larger circle at A. Chords AE and CD intersect |
"'lvt‘F on o0 and CD is tangent to 00. |
12. If m£EAB = 25, find m ZAHF. {40 _)
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13. If m£DFE = 65, find m ZBAE = (45 \
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™ 14 If mDFE = 65, find m BE. =+, 1




